REGWRERANRRE 50
Toxr

ERIREL
%3/H
BE:
BE: 4
FE: @
F 8. @
e &: 4
e 25: 19
{ES A5 0 48
/8
SRARER
/8
BE: 4
FE: @
e &: 1@

(Bm2E

K 2
<R

1BHk)

828R 1/4 %i(50 &)
R 1/2 Bi(125 %)
8- KD - Lidn 1/2 B
INBEBI(RZ)2 &
ANE(5)1/2 @&

2R (P)1/3 @
INEEL D (25 =)
+30MN1/2 R
EEEE 1/2 @

AFE

MER 3FR(205%E) FE - FHE S55%

B F(K)3 &
BREE 7 3R
EFEK 155k
FEHH K 1/2 5k
*wITEEZ(N)3 R
*REME 1/3 @
MERME 1/4 8
*J5E 6 1/4 fE

B/ 1355

W% 1105%

Z /(7 11)50 7=
HFEREOR
AL(#)E 1/4W0
B 45 A%
K13

% B (FR83) 13 #i

ZEERE 118 (50 =) *HE 1/3 1R WAEF 61

KA — 15 fEBE4h 240cC.C. £+ 2hkR ZHEI 4 (150 Kk

(120 K+ ) |{EREWN#E 3 HRLE(25 =) BE&FL 200CC

EEZARA—G% BAAN1MA35%E) F&M 225 % 155 (20)22 & (60 5E)

(55 KFk) HMMA 1M RELM SR8 (K)6 &
EERR 1/2 £(40 %) BZ 2/31%(1005%=) 4tuE/WW{F 8 fE (65 =)
E4A 1M £ 4 R(65 =) HiR{” 6 £(30 =)
samaon sEmimson  EEIA@s0
$iifm 1/2 1%(40 52) EE 50 A%

hlEEN—H E1E —EZEYE 40 = | =3==N

(75 Kk) oZBE1m #M2E30%) =D RR R/
An2@@0%)  ¥W1m RE2BRQSH)
hABEET 235 %) BHMEE 3 /880 %) ERERE 1/2 (140 =)
ZHU1LE 307 —AHER2E((5%)BE « T#4 35 A%

BiEER—7
(120 X&)

KR—1n
(60 XFk)

MR 1/2 1%(35 =)
AR 3 SR (20 =)

hiEA 40 5=
&+ 1 f&(190 5E)
#T 1{E(170 %)
KEHE 1 (150 5)
i 1 {&8(75 %)
MEER 1 fE(125 %)
E#7% 2 (180 %)

fEPY 40 A%
40 45 A5
#3 1 1%(50 =)

&N 1/2 {E(165 %)

Mgtk 3/4 {8 (180 5=)

B4 1/3 E(160 =)
B 1/2 {E(105 %)
BE 1/21R(95 %)
*KRE 22 5%

F&5H0 3 /iR (30 %B)
K HB(/M)2.5 /(45 75)
&IZ 11840 %)

R 1/4 {8(225 =)
PEIARA 1/4 {E(190 =)
TR 1/3 {E(140 =)
INEHn 23 (175 %)
FE - EIR13%

Bk B8 MW

3 5 48 HIEE—{ |[EYH 1 3R BIR 1 R (10 ) BER 5l
/B | (45 KF) =73 1R #i¥8 1 % RE(10 %) 6% - FOR 10 #
RIS 2 FRE wyimEk 1 {8 (5 =) JRF 2 ZRE(40 %)
R E ‘mR—0  |EREFH Bi%E 1 W B 100 5=
fa/H (25 KF) |K#Fhi 1% (100 %) HE4E 1 5 AH 100 =
JREE 1 Wi EE1m BE CFEX -EBEXI0R

DA IERKBRREE § ¢o0105.09 0

.....

EMORIAL



